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Compute-Opt(j)
If j = 0 then
Return O
Else
Return max ( v; + Compute-Opt(p(j)) , Compute-Opt(j-1) )
Endif
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M-Compute-Opt(j)

If j =0 then
Return 0

Else if M[j] is not empty then
Return M[j]

Else
Define M[j] = max( v; + M-Compute-Opt(p(j)) , M-Compute-Opt(j-1))
Return M[j]

Endif
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M[0] =0
fori=1ton
M[i] = max(vi + M[p(i)], M[i-1])
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M[0] =0
S[0] is empty schedule
fori=1ton

MI[i] = max(vi + M[p(i)], M[i-1])
SO = vi+ M[p()] < M[j-1] ? S[j-1] : S[p()] v {i}
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findSolution(int j)
if (j=0) then
return empty schedule
if (vj + M[p(j)] = M[j-1]) then
return findSolution(p(j)) U {j}
else
return findSolution(j-1)
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M[0] =0
fori=1ton
M[i] = max(vi + M[p(i)], M[i-1])
if (vi + M[p(i)] > M[i-1])
Decision[i] =1 (* 1 means i included in solution M[i] *)
else
Decision[i] = 0 (* 0 means i not included in solution M[i] *)
S=¢,i=n
While (i > 0) do
if (Decision[i] ==1)
S=Su{i}
1= p(i)
else
i=i-1
Output S




